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C

5 “* If the cost price is 75% of the selling price,
then find the profit or loss percent ?

TR ¥NTd Hed, [Pt gea &1 75% & @

JYQT g1+ &1 wio=ra gdarai 2
CpP SP>
a) 25% ()?5 "SD
b) 20%
1
< et OTH = 2y = 2
d) 16 = % K3

7
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C

; “* If the cost price is 70% of the selling price
then what is the estimated profit

percentage ?
R @R §ed, fast geu &1 70% & @t
AT AT &1 Ufa=a |18 2

P Sp
10 — a‘ﬁ‘b

30
QH = wab e =]

&
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C

5 “* If the cost price is 25% more than the
selling price, then find the percentage of

profit or loss ?
3R 9T e, fareht gea @ 25% aiftre € ot
ATH 3YaT BT BT Wia=rd F1d H 2

(UPSI 14 Dec 2017)
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C

| + A trader sells a chair at a loss of 16 ; %, if

he sells the chair for Rs 450, then what is

the cost price of the chair ?

9T €, afe 98 IW T B 450 Rs F AT
g1 a1 39 Al BT HY Hed qadlsil ?

a) 520Rs

b) 530Rs

¢) 540 Rs

d) 550 Rs
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C

; 2
<* Shyam sells an article at a profit of 14 = %,

if he sells that article for Rs 1616, then find

the cost price of that article ?

v et avg Bt 14 - % ¥ AU ITT R, E 1—s Cp
gfe a8 39 a%] H! 1616 Rs H d99d1 81 I 39 S
¥ P o Yo FId PR 2 P— 8= )Kie

|=sloQ
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; “ If a person suffers a loss of 25% then
calculate the loss on the selling price ?

U AfR B 25% P g1 gl & af g1y 31
T a9 o0 IR &1 2
O S E?'i/xlm
|60 15 15

o =331.
355 u, (sp tr\)

&
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C

; “+ If a person gets 10% profit then what is the
percentage of profit on its selling price ?

U G B 10% ATH U a1 @ o T &I
% ISP AT T U B 2

P Sp
|60 —— \\0

ofy |0
l@xls‘b q [

&
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C

; 1
<+ A person gets a profit of 12 > % on the

selling price, then find his actual profit ?

wmfaﬁs‘tu%%mmm?m%,ﬁﬁ

& fapg oo WX g o IS arfa® @
T B 2
g a5 Qld
CP\,@
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C

| <+ A person gets a profit of '\éé-/-% on the

selling price, then find his actual profit ?

TF AR B (6S /. BT ATH WI §hert @, Sl

& fapg oo WX g o IS arfa® @ ) ~
TR B 2 = I = o/
|6§'/'= 17— 1y
& 6\9&‘)

*—@
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selling price, then find his actual Q2oss?

Td B ?

%= c‘T“Sb:

| “+ A person gets a Loss of laé-l-% on the

T AR B a5/ P 3N WE g 8,
5 Py T/ W ? df SuS! aafd® &R

u#[.

v

o/

L — W

8 SE

—@
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